
Urban Settlements Worksheet

Introduction (5 minutes)

Read the introduction to the worksheet and answer the following questions:

1. What is the main purpose of this worksheet?

2. How much time do you have to complete this worksheet?

Section 1: Multiple Choice Questions (15 minutes)

Choose the correct answer for each question.

1. What is the main characteristic of an urban settlement?
a) Agriculture
b) Industries
c) High population density
d) Tourism

2. Which of the following is an advantage of urban settlements?
a) Low cost of living
b) Easy access to natural resources
c) Geographical isolation
d) Longer distances to job opportunities

3. What is the name of the process by which people move from rural areas to cities?
a) Urbanization
b) Suburbanization
c) Ruralization
d) Migration
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Section 2: Short Answer Questions (20 minutes)

Answer each question in 1-2 paragraphs.

1. Describe the differences between urban and rural settlements in terms of population density and
economic activities. (5 points)

2. List three advantages and three disadvantages of urban settlements. (6 points)

Section 3: Essay Question (30 minutes)

Choose one of the following topics and write a 250-word essay:

The role of urban settlements in the economy: Discuss the contribution of urban settlements to the
country's GDP and job creation.
The impact of urban settlements on society: Discuss how urban settlements affect society in terms
of culture, education, and healthcare.
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Section 4: Map Labeling (15 minutes)

Use the map of South Africa to identify and label the following urban settlements:

Johannesburg
Cape Town
Durban
Pretoria

[Map of South Africa]

Section 5: Additional Activities (20 minutes)

Complete the following activities:

1. Create a diagram showing the advantages and disadvantages of urban settlements.

2. Write a short paragraph describing the importance of urban planning in managing the growth of
cities.

Page of 7



Answer Key

Check your answers with the following answer key:

Multiple Choice Questions

1. c) High population density
2. a) Low cost of living
3. a) Urbanization

Short Answer Questions

1. Urban settlements have a higher population density and focus on industries and services, while rural
settlements have a lower population density and focus on agriculture.

2. Advantages: low cost of living, easy access to education and healthcare, and a wider range of job
opportunities. Disadvantages: high crime rates, traffic congestion, and high cost of living.

Essay Question

The role of urban settlements in the economy: Urban settlements contribute to the country's GDP
through job creation in industries and services. They are also centers of trade and commerce.
The impact of urban settlements on society: Urban settlements provide access to better education
and healthcare. They are also centers of cultural diversity and creativity.

Implementation Guidelines

Follow these guidelines to implement the worksheet:

Time: 60 minutes
Equipment: A map of South Africa, a pen or pencil for each learner
Administration: Learners must do their own work. The teacher must supervise and assist where
necessary.
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Differentiation Options

Use the following differentiation options to support learners with different needs:

For learners with special needs: Provide a larger map or a digital version of the map. Allow learners
to type their answers on a computer.
For learners who learn quickly: Add more complex questions, such as analyzing statistics on urban
settlements or comparing urban settlements in different countries.
For learners who struggle: Provide visual aids, such as pictures or videos, to illustrate urban
settlements. Allow learners to work in groups to help each other.

Conclusion

Congratulations on completing the Urban Settlements Worksheet! You have demonstrated your
understanding of urban settlements and their role in the economy and society.
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